5

| 1

BOM FOR ASSEMBLY

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE
PROPERTY OF MSI (Moore-Sport INC). ANY REPRODUCTION IN
PART OR AS A WHOLE IS STRICTLY PROHIBITED.

CRH ASSEMBLY SHOWN >
LH ASSEMBLY OPPOSITE

*NOT SHOWN IN IMAGE

CNC Front STl 04 Upright set (radial mount)

MOORES0OORT | carmone 2005 T CONFIGURATION: ASSEMBLY: REV 2022-01-18
A
L—’—'—_—\ APPLICATION Motorsport ONLY Default MSIsub02-07-050 1 12580.64
5 4 ‘ 3 ]




5 4 3 2 1
NO. PART NUMBER DESCRIPTION QrTyY.
BOM FOR ASSEMBLY 1 |MSIsub02-07-050a Universal Subaru Upright
*NOT SHOWN IN IMAGE 2 [MSIsub02-07-050b Front upright Clevis
3 |[MSI-MTRSPRT-02-018-LH Billet steering arm LH 1
4 |MSI-MTRSPRT-02-018-RH  |Billet steering arm RH 1
5 |MSI-MTRSPRT-02-020d Upright spigot 2
6  |MSI-MTRSPRT-02-020e Lower Pin Spacers 8
7 |MSI-UNIV-04-052-27 27mm Caliper Spacer 4
8 |MSI-UNIV-09-010 M12 Bolt Insert 4
9 |MSI-UNIV-09-011a 30mm Upright Insert 4
10 [MSI-GXOW-1614-SSCN Stainless M14x1.5 Flanged Castle Nut 2
1T IMSI-GXOW1612x10 16mm OD x 12mm ID x 10mm H Spacer 2
12 |MSI-GXOW1612x14 16mm OD x 12mm ID x 14mm H Spacer 2
13 |[MSI-GXOW1612x15 16mm OD x 12mm ID x 15mm H Spacer 2
14 |MSI-GXOW1612x19 16mm OD x 12mm ID x 19mm H Spacer 2
15 |MSI-GXOW1612x24 16mm OD x 12mm ID x 24mm H Spacer 2
16 |MSI-GXOW1612x5 16mm OD x 12mm ID x 5mm H Spacer 2
17 |MSI-M10X1.5-CZNN Clear Zinc Nyloc Nut M10x 1.5 4
18 |MSI-M10X16-CZSW Clear Zinc Schnorr Lock Washer M10x 1émm| 4
19 |IMSI-M12X1.25-YZFN Yellow Flange Nut M12 x 1.25 2
20 |MSI-M12X1.25X30-BLCS Black Cap Screw M12 x 1.25 x 30mm 6
21 |MSI-M12X1.25X50-BLCS Black Cap Screw M12 x 1.25 x 50mm 4
22  |MSI-M12X1.25X80-BLCS Black Cap Screw M12 x 1.25 x 80mm 2
23  |MSI-M12X18-CZSW Clear Zinc Schnorr Lock Washer M12 x 18mm| 12
24 |MSI-M4X0.7X10-BLCS Black Cap Screw M4 x 0.7 x 10mm 2
25 |MSI-M6X1.0X16-SSCS Black Cap Screw M8 x 1.25 x 25mm 12
( RH ASSEMBLY SHOWN > 26 |MSI-M8X13-CZSW Clear Zinc Schnorr Lock Washer M8 x 13mm 12
LH ASSEMBLY OPPOSITE 27 |MC-90245A173 M8 x 1.25 KeyLock Insert 12
28 |MC-90245A178 M12 x 1.25 KeyLock Insert 16
JS&',“;;?YRQQK;'“(@?OT;’}';?l'ﬁg;"iﬂ’iﬁg;ﬁg&gﬁgﬁﬁ; 29 |MC-92391A140 2.5mm SS Reusable Cotter Pin 2
PART OR AS A WHOLE IS STRICTLY PROHIBITED. CNC Fron‘l’ STl 04 UprlghT Se‘l’ (rodlol moun‘l’)
MOORE=ESO™RT | carmon 2005 T CONFIGURATION: ASSEMBLY: REV 2022-01-18
= APPLICATION Motorsport ONLY Default MSIsub02-07-050 1 12580.64
5 4 3 2 ]




	Sheet1
	Drawing View11

	Sheet2
	Drawing View12


